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Menurut Hk. Gauss: 

QdS.Ds   

Untuk menghitung integral tertutup dari kotak persegi, maka integral dipecah 

menjadi 6 integral: 

   
kanan bawahataskiribelakangdepan

dS.D  

*      
depan

depandepan S.D  

  = Ddepan.Sdepan 

  = Ddepan.yz ax 

 = Dx,depanyz  Dx,depan=Dxo+(x/2)(Dx/x)  

     (Dx/x) = laju perubahan Dx terhadap x 

     Dxo= adalah Dx di titik P 

 = (Dxo+(x/2)(Dx/x)) yz 

*      
belakang

belakangbelakang S.D  

 = Dbelakang.(-yz ax) 

 = -Dx,belakang yz  Dx,belakang=Dxo-(x/2)(Dx/x)  

 = (-Dxo+(x/2)(Dx/x)) yz 

 zyx
x
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belakangdepan





   

x 

y 

z 

D = Do= Dxoax + Dyoay + Dzoaz 

P(x,y,z) 
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